Contract Committee Review Request MUST BE COMPLETED IN FULL

Contract/Agreement Vendor:

Cabinet Team Member:

Funding Source: 36/102

Consent

Action

Fund/Project

Bond Funds./ T. Sappington

Summary

the district rather than an individual.

Tynker

Name of Vendor & Contact Person

Date: June 6, 2024

Venkat Verada

	venkat@tynker.com Vendor Email Address				
Internal	Online platform that teaches students how to code. Students learn the fundamentals of programming and design.				
Cator.	Describe Contract (Technology, program, consultant-prof Development, etc.)				
	Please use Summary below to fully explain the contract purchase , any titles, and details far the Board of Education to review.				
	Secondary Students of BAPS				
	Reason/Audience to benefit				
	June 24, 2024				
	BOE Date Amount of agreement				
Person Submitting C	Contract/Agreement for Review: Tony Sappington				
PLEASE SEND TH	ROUGH APPROPRIATE APPROVAL ROUTING BEFORE SENDING TO BOARD CLERK				
Principal <u>&/or</u> Direc	ctor or Administrator: Town Saper				
Does this Contract/	Agreement utilize technology YES NO				

The Contract/Agreement should be received at least 2 weeks prior to a Board Meeting to ensure placement on the Agenda. The Contract Committee meets most Tuesdays at 8:00a.m. All Contracts/Agreements, regardless the amount, must be first approved by the Contract Committee and then presented to the Board of Education for approval and signature. The item will be placed on Electronic School Board for the board agenda by Janet Brown. By following this process, the liability of entering into an agreement is placed with

Accept and approve the RENEWAL agreement between Tynker School Programming and Broken Arrow Public Schools. Tynker will provide licenses for middle school and high school coding activities. The effect date of this agreement is August 1, 2023-June

30, 2024. This is year two (2) of a three (3) year agreement. Advance renewal is to lock in rates before increase and results in a savings, to the District, of \$12,600.00. The cost to the District was \$63,000.00 and was paid in the 23/24 school year with Instructional

This area must be complete with full explanation of contract



Quote Q15842v4

Neuron Fuel Inc. 650B Fremont Avenue #330 Los Altos, California 94024-4812

United States

Bill To:

Broken Arrow Public Schools 701 South Main Street Broken Arrow, Oklahoma 74012 United States

Quote Date: Quote Expires: January 25, 2023 February 17, 2023

Prepared for: Sharon James sjames@baschools.org +1-918-259-4340 x5514 Prepared By: Venkat Varada venkat@tynker.com +1-408-426-0425

Description	Quantity	Price	Extended	Discount	Total
•	7	\$200.00	\$1,400.00	100.00%	\$0,00
YNKER PREMIUM PLAN DISTRICT DASHBOARD	,	\$200.00	, ,		
District Level License Administration and Analytics					
District, School, Classroom, and Student Metrics					
Detailed Student Progress/Usage Analytics					
Required for District Implementations ERPA, COPPA, PPRA, GDPR Management Tools					
School Year Price per Site (Unlimited Students)					
icense Period {August 1, 2023 - June 30, 2024}					
License Crist (1894-1974			#C 000 00	%	\$6,000.00
TYNKER PREMIUM PLAN (HIGH SCHOOL	2	\$3,000.00	\$6,000.00	70	T-/
Digital Curriculum & Instructional Materials					
9 Coding Courses for Web: GoTyn.kr/HS					
➤ Intro to Programming: Tynker Blocks & Processing					
➤ 2-Semester Programming Pathway: Python					
2-Semester Web Development Pathway: HTML & JS					
2-Semester Advanced Pathway: Java & Data Science					
> Hardware Programming: Micropython on micro:bit					
Real-time Learning Metrics/Progress Reports					
Built-in Assessments & Student Management					
Standard Professional Development & Support					
FERPA, COPPA, PPRA, GDPR Compliant					
School Year License for 400 Named Student Accounts					
License Period {August 1, 2023 - June 30, 2024}					±15 000 f
TYNKER PREMIUM PLAN MIDDLE SCHOOL	5	\$3,000.00	\$15,000.00	%	\$15,000.0
Digital Curriculum & Instructional Materials					
19 Coding Courses for Web & IPad: GoTyn,kr/MS					
> 9 Programming: Block + JavaScript + Python					
> 6 STEM + 4 Interest-based					
➤ Mapped to CSTA, ISTE, NGSS standards					
Real-time Learning Metrics/Progress Reports					
Built-in Assessments & Student Management					
Standard Professional Development & Support					
FERPA, COPPA, PPRA, GDPR Compliant					
School Year License for 400 Named Student Accounts					
License Period (August 1, 2023 - June 30, 2024)					
TO ATRICA ON COADDING	2	\$150.00	\$300.00	100.00%	\$0.
TYNKER PREMIUM TRAINING ONBOARDING					
Online Professional Development Coaching Format. PD Topics include					
> User Administration and Reporting					
> Rostering and Classroom Management					
> Curriculum Review					
> Teacher Resources and Best Practices					
Non Certification Track 45 Minute Training (up to 10 participants)					
License Period {August 1, 2023 - June 30, 2024}					
LICEUSE FELIOU (Mugust 1, 2000 3000 11, 111)			+1 400 00	100.00%	\$0.
TYNKER PREMIUM PLAN ROSTERING INTEGRATION	7	\$200.00	\$1,400.00	100.0070	, , ,
Rostering and Sign-in for Apple Classroom (iPad only), Clever,					
Google Classroom, Tynker,					
Flexible Rostering Formats (manual, spreadsheets, APIs)					
Required for District Implementations					
School Year Price per Site (Unlimited Students)					
License Period (August 1, 2023 - June 30, 2024)					





		\$200.00	\$1,400.00	100.00%	\$0,00
YNKER PREMIUM PLAN DISTRICT DASHBOARD	7	\$200,00	1 - /		
istrict Level License Administration and Analytics					
istrict, School, Classroom, and Student Metrics					
petailed Student Progress/Usage Analytics					
equired for District Implementations					
ERPA, COPPA, PPRA, GDPR Management Tools ichool Year Price per Site (Unlimited Students)					
icense Period (August 1, 2024 - June 30, 2025)					
ICENSE PERIOD (Addost 1) Con	_	+3 000 00	\$6,000.00	%	\$6,000.00
YNKER PREMIUM PLAN HIGH SCHOOL	2	\$3,000.00	4-1		
pinital Curriculum & Instructional Materials					
Coding Courses for Web: GoTyn.kr/HS					
 Intro to Programming: Tynker Blocks & Processing 					
> 2-Semester Programming Pathway: Python					
> 2-Semester Web Development Pathway: HTML & JS					
> 2-Semester Advanced Pathway: Java & Data Science					
> Hardware Programming: Micropython on micro:bit					
peal-time Learning Metrics/Progress Reports					
Built-in Assessments & Student Management					
Standard Professional Development & Support					
FERPA, COPPA, PPRA, GDPR Compliant School Year License for 400 Named Student Accounts					
License Period {August 1, 2024 - June 30, 2025}					
	5	\$3,000.00	\$15,000.00	%	\$15,000.00
TYNKER PREMIUM PLAN MIDDLE SCHOOL	_	45,00011			
Digital Curriculum & Instructional Materials					
19 Coding Courses for Web & iPad: GoTyn.kr/MS					
> 9 Programming: Block + JavaScript + Python					
> 6 STEM + 4 Interest-based					
> Mapped to CSTA, ISTE, NGSS standards					
Real-time Learning Metrics/Progress Reports Built-in Assessments & Student Management					
Standard Professional Development & Support					
COPPA PPRA GDPR Compliant					
School Year License for 400 Named Student Accounts					
License Period (August 1, 2024 - June 30, 2025)					\$0.00
A THE CARDING	2	\$150.00	\$300.00	100.00%	40.00
TYNKER PREMIUM TRAINING ONBOARDING					
Online Professional Development					
Coaching Format. PD Topics include >> User Administration and Reporting					
> User Administration and Reporting > Rostering and Classroom Management					
➤ Curriculum Review➤ Teacher Resources and Best Practices					
Non Certification Track					
45 Migute Training (up to 10 participants)					
License Period (August 1, 2024 - June 30, 2025)					\$0.0
	7	\$200.00	\$1,400.00	100.00%	\$0.0
TYNKER PREMIUM PLAN ROSTERING INTEGRATION					
Rostering and Sign-in for Apple Classroom (iPad only), Clever,					
Google Classroom, Tynker. Flexible Rostering Formats (manual, spreadsheets, APIs)					
Required for District Implementations					
School Year Price per Site (Unlimited Students)					
License Period (August 1, 2024 - June 30, 2025)					+0.4
	7	\$200.00	\$1,400.00	100.00%	\$0.0
TYNKER PREMIUM PLAN DISTRICT DASHBOARD	,	+=+			
Dietrick Level License Administration and Analytics					
District, School, Classroom, and Student Metrics					
Detailed Student Progress/Usage Analytics					
Required for District Implementations FERPA, COPPA, PPRA, GDPR Management Tools					
Echapt Year Price per Site (Unlimited Students)					
License Period (August 1, 2025 - June 30, 2026)				Annual Control of the	



Quote Q15842v4

	2	\$3,000.00	\$6,000.00	%	\$6,000.00
YNKER PREMIUM PLAN HIGH SCHOOL	-				
gital Curriculum & Instructional Materials					
Coding Courses for Web: GoTyn.kr/HS					
Intro to Pragramming: Tynker Blocks & Processing					
2-Semester Programming Pathway: Python					
2-Semester Web Development Pathway: HTML & JS					
- 2-Semester Advanced Pathway: Java & Data Science					
- Hardware Programming: Micropython on micro; bit					
eal-time Learning Metrics/Progress Reports					
uilt-in Assessments & Student Management					
tandard Professional Development & Support					
ERPA, COPPA, PPRA, GDPR Compliant					
chool Year License for 400 Named Student Accounts					
icense Period (August 1, 2025 - June 30, 2026)				0/	\$15,000.00
THE STATE OF THE S	5	\$3,000.00	\$15,000.00	%	\$13,000.00
YNKER PREMIUM PLAN MIDDLE SCHOOL					
Digital Curriculum & Instructional Materials					
9 Coding Courses for Web & iPad: GoTyn.kr/MS					
> 9 Programming: Block + JavaScript + Python					
> 6 STEM + 4 Interest-based					
> Mapped to CSTA, ISTE, NGSS standards					
Real-time Learning Metrics/Progress Reports					
Built-in Assessments & Student Management					
Standard Professional Development & Support					
ERPA, COPPA, PPRA, GDPR Compliant School Year License for 400 Named Student Accounts					
License Period (August 1, 2025 - June 30, 2026)					
icense Period (Adyds. 1, 2023 Same - 1,			\$300.00	100.00%	\$0.00
TYNKER PREMIUM TRAINING ONBOARDING	2	\$150.00	\$300.00	200101	
Online Professional Development					
Coaching Format. PD Topics include					
>> User Administration and Reporting					
> Rostering and Classroom Management					
> Curriculum Review					
➤ Teacher Resources and Best Practices					
Non Certification Track					
45 Minute Training (up to 10 participants)					
License Period {August 1, 2025 - June 30, 2026}					
	7	\$200.00	\$1,400.00	100.00%	\$0.0
TYNKER PREMIUM PLAN ROSTERING INTEGRATION	7	\$200.00	4		
Rostering and Sign-in for Apple Classroom (iPad only), Clever,					
Canala Classroom, Tynker,					
Flexible Rostering Formats (manual, spreadsheets, APIS)					
Required for District Implementations					
School Year Price per Site (Unlimited Students)					
License Period (August 1, 2025 - June 30, 2026)					
			Quote Subtotal:		\$72,300.0
Note:			Quote Dis		12.869
Thank you! -Venkat			Quote Total:		\$63,000.0
			Quote 10t	a.,	1 7

To confirm your order, please send a purchase order to sales@tynker.com OR e-sign below.

Name:

Date:

Title:

Organization:

Signature:

rou may also print and sign. Please email to sales@tynker.com OR fax to +1-650-332-1104.











